Falkirk Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Carse Kinnaird and Tryst

7,178

4

1,436

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Margaret ANSLOW	Scottish Labour Party	1,762
Gary BOUSE	Scottish National Party (SNP)	1,961
James FLYNN	Scottish Conservative and Unionist	1,081
Robert KEMP	Scottish Conservative and Unionist	646
Sean Patrick MCCAY	Scottish Liberal Democrats	207
Tom MCLAUGHLIN	Scottish Green Party	297
Laura MURTAGH	Scottish National Party (SNP)	1,224
	Total	7,178

Candidate Margaret ANSLOW Elected with 1,762 votes, being in excess of the quota of 1,436 Candidate Gary BOUSE Elected with 1,961 votes, being in excess of the quota of 1,436

This report contains the transfers results.

Stage 2 - Surplus of Gary BOUSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	28	0.26772	7.49616
Transfer to Robert KEMP	14	0.26772	3.74808
Transfer to Sean Patrick MCCAY	32	0.26772	8.56704
Transfer to Tom MCLAUGHLIN	110	0.26772	29.44920
Transfer to Laura MURTAGH	1,668	0.26772	446.55696
No further preference	109	0.26772	29.18148
Not transferred due to rounding			0.00108
	Total		525.00000

This report contains the transfers results.

Stage 3 - Surplus of Margaret ANSLOW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	298	0.18501	55.13298
Transfer to Robert KEMP	133	0.18501	24.60633
Transfer to Sean Patrick MCCAY	445	0.18501	82.32945
Transfer to Tom MCLAUGHLIN	238	0.18501	44.03238
No further preference	648	0.18501	119.88648
Not transferred due to rounding			0.01238
	Total		326.00000

This report contains the transfers results.

Stage 4 - Surplus of Laura MURTAGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	35	0.14040	4.91400
Transfer to Robert KEMP	21	0.14040	2.94840
Transfer to Sean Patrick MCCAY	85	0.14040	11.93400
Transfer to Tom MCLAUGHLIN	654	0.14040	91.82160
Transfer to James FLYNN	45	0.03758	1.69110
Transfer to Robert KEMP	21	0.03758	0.78918
Transfer to Sean Patrick MCCAY	128	0.03758	4.81024
Transfer to Tom MCLAUGHLIN	814	0.03758	30.59012
No further preference	429	0.14040	60.23160
No further preference	660	0.03758	24.80280
Not transferred due to rounding			0.02392
	Total		234.55696

This report contains the transfers results.

Stage 5 - Exclusion of Sean Patrick MCCAY

314.64073

Clayer Exclusion of Coall Lation Medical			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	33	1.00000	33.00000
Transfer to Robert KEMP	26	1.00000	26.00000
Transfer to Tom MCLAUGHLIN	75	1.00000	75.00000
Transfer to James FLYNN	2	0.26772	0.53544
Transfer to Robert KEMP	1	0.26772	0.26772
Transfer to Tom MCLAUGHLIN	20	0.26772	5.35440
Transfer to James FLYNN	67	0.18501	12.39567
Transfer to Robert KEMP	39	0.18501	7.21539
Transfer to Tom MCLAUGHLIN	152	0.18501	28.12152
Transfer to James FLYNN	8	0.14040	1.12320
Transfer to Robert KEMP	2	0.14040	0.28080
Transfer to Tom MCLAUGHLIN	42	0.14040	5.89680
Transfer to James FLYNN	5	0.03758	0.18790
Transfer to Robert KEMP	1	0.03758	0.03758
Transfer to Tom MCLAUGHLIN	74	0.03758	2.78092
No further preference	73	1.00000	73.00000
No further preference	9	0.26772	2.40948
No further preference	187	0.18501	34.59687
No further preference	33	0.14040	4.63320
No further preference	48	0.03758	1.80384
Not transferred due to rounding			0.00000
	Total		314.64073

Report Name: Transfers_V0001_Ward-4---Carse-Kinnaird-and-Tryst_06052022_173647.pdf Created: 06-5-2022 17:36:47

This report contains the transfers results.

Stage 6 - Exclusion of Tom MCLAUGHLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	49	1.00000	49.00000
Transfer to Robert KEMP	40	1.00000	40.00000
Transfer to James FLYNN	16	0.26772	4.28352
Transfer to Robert KEMP	18	0.26772	4.81896
Transfer to James FLYNN	69	0.18501	12.76569
Transfer to Robert KEMP	52	0.18501	9.62052
Transfer to James FLYNN	109	0.14040	15.30360
Transfer to Robert KEMP	62	0.14040	8.70480
Transfer to James FLYNN	111	0.03758	4.17138
Transfer to Robert KEMP	93	0.03758	3.49494
No further preference	283	1.00000	283.00000
No further preference	96	0.26772	25.70112
No further preference	269	0.18501	49.76769
No further preference	525	0.14040	73.71000
No further preference	684	0.03758	25.70472
Not transferred due to rounding			0.00000
	Total		610.04694

This report contains the transfers results.

Stage 7 - Exclusion of Robert KEMP

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James FLYNN	621	1.00000	621.00000
Transfer to James FLYNN	21	0.26772	5.62212
Transfer to James FLYNN	148	0.18501	27.38148
Transfer to James FLYNN	69	0.14040	9.68760
Transfer to James FLYNN	107	0.03758	4.02106
No further preference	91	1.00000	91.00000
No further preference	12	0.26772	3.21264
No further preference	76	0.18501	14.06076
No further preference	16	0.14040	2.24640
No further preference	8	0.03758	0.30064
Not transferred due to rounding			0.00000
	Total		778.53270